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50 OD0OO0OoOobobooon

() 3000000000000000.000000000000000 v(z,y, 2)
000000.0000000000000 P(z,y,2)000000,000
z,9,-0000000000 (de,dy,d2) 00 000000000.0000
0000000000000000000,0000

(div v)p x dxdydz
0000000000.000 (dive)p0d0 POODO 000000,

@ 0000000000000 0O0O0b0O0 QoooboOoooooooono. o
gooooooooooooooobobo 0000000000 oO0O00O
O0,rotoddpoQog.

52 vOOooo

O000000000000.000 ¢(x,y,2),v(x,y,z) 0000000, A(z,y, 2),
B(r,y,z) 0000000000,

(1) Vx(Vp)=0

(2) V-(VxA)=0

(3) V(AxB)=B-(VxA) - A-(VxB)

(4) Vx(Ax B)=(B-V)A—(A-V)B+ A(V-B) — B(V-A)

(5) VA-B)=(A-V) B4+ (B-V) A+ Ax (VxB)+Bx(VxA)

6) V x (Vx A) =V(V-A) — V2A
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53 DOOOooboood

000000  pOOO0OO0O0OO0O0O0O0O0OaO
A: al(m7yvz)el +a2($,y»z)€2+a3($7yyz)e3

OD0OO0O0OD0O0O0OD0 dr =drey +dyes +dze; DO OO0, 00 COOO0OOO
goon

/CA-d'r:/Cal(a:,y,z)dx+a2($,y,z)dy+a3(a:,y,z)dz (5.1)
00000 A0 cOodoooogooog.
(h 00DDO00OOoO0O0oo.
(1)
/C(aA+ﬁB)-dr:a/cA.dr+5/CB-dr.
(i)
/_CA~d'r:—/CA-d'r.

Ooo0ob —coboo cooooooooobooo.

2)0b0b00 b0 b0Ob0O0O VeOUOUouoob ADOO BOOOOODO
coopooooo

Ve dr=o(B) - o(4)

O00000000.000 o(A)00 ADDOO ¢o0OD0ODOOO.
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54 DOOOO0OODOOO

000000  pODOODO SOOOOODOODOODODOODbOODOD

A =a(z,y,2)e; + as(x,y, 2)es + az(x,y, 2)es
000,00000 ADOOD OOOODOOoOoDbooo.
/SA-dS:/SA~ndS:/Salnl(x,y,z)+a2n2(:c,y,z)+a3n3(x,y,z) ds. (5.2)

ooods,ds000nogno SO0 000000 obuo0,n0000dSO
gboobg b, 00bobboobo.

() 000DO00oo0ooooo.
(1)
/S(aA+5B)-dsza/SA-ds+ﬁ/SB.ds.
(i)
/_SA-dS:—/SA-dS.

OO0 -Sg Sgbooboobobooboooooooon.

Q) r0ooboooboooboo,

/S'r-ndS

g, sSbobooooooooobo.bobooooooobobo sgoog
gobobooga.

() 0000 224¢>+22=1.
() 00 z=+1l,y=+1,=4+,100000000000.
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5.5 doogad

ooooooooboooo AD,A00O0O000DOOOOD soOoo soOoo
goooboovoooo.oooo,

%Agn&hi/VAdV (5.3)
S \%4
0OooO0O0.000 000000 oo,

() 00 p(z,y,2,t) 00000000 v(z,y,2¢)0000000000. 00
00000000000000000,0000000000000000.

ap B
5 TV pv) =0, (5.4)

) 00000000000000000000000.0000000000
D0000000000000@O00000)gdm 2sec )

qg=—kVT (5.5)

O0000.0b00T7T00D0000,kE0 O0OOO (thermal conductivity) O
Oo0.0o0b00o0bodoodoooo ooo.oooboooooooooon
dddooo,0oooobobobooo0o0ooooon.

oT

—— = gV?T. 5.6

5 =" (5.6)
000 0 0000 (thermal diffusivity) 0, 00000 pO00000000

000 cOO000k=k/pcODODDODO.
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566 UOOOOOOO

Oooooboboooonbo A0,A00DOOoOoOoooooo coopbo cooo
ooooooo sobobo.oooo,

7{CA~dr:/S(V><A)-ndS (5.7)

gooob.0ooc obooboobooob ooo.obobobooboonoooo ©
goo0o@obobobooooooobobo)boooboboboooo.

(h) oo coobooooooboo HOODO,0000D00D0bO

%H-drz[
c

ooooo.b0oo0 /0coooboobooo sgoooooooboo
O.000000000y00001I=[yy-ndSO00000000O0O0O0O,
gbooobgoboobo

VxH =3 (5.8)

gogo.

20o0ob0cooooboooboob0 pOOOO,DO0000D0DOODOO
god

4D
E-dr =2~
fc LT

ooboo.0ob 0 Cco0obDOU0obDOoOobOOo Sobobooobooo.oo
oo BOOODO ¢=(,B-ndSO000D000CO0O0O0,0000000
goboooogoon

0
E=-—-—_B )
V X T (5.9)

gogoo.
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